OPD Prescription

UHID No.

: 3511

Patient Name : Pallavi Kapoor

Address

: Athri, Runnisaidpur, Sitamarhi

B.P.

Pulse:

OPD No.

:2019

Date

: 31/05/2025

Age / Sex

: 09 days/ F

Temp:

Weight:

Satyam Super Speciality Hospital

Attn: A Giggles Welfare Organization

Fund Support Requisition for Economically Weaker Section

Reference No.

UHID :- 3511

OPD NO. 2019

DATE:- 31/05/2025

PROFORMA	INVOICE/FUND	REQUISITION	REPORT
	A STATE OF THE PARTY OF THE PAR	THE RESERVE OF THE PARTY OF THE	THE RESERVE TO BE STORY

Satyam Super Speciality Hospital (A unit of Satyam medical care Pvt. Ltd.)

Opp. Satyam Paramedical College And Research

Maripur, Muzaffarpur, - 842001, Bihar

Pallavi Kapoor		
Female		
Khushboo Kapoor		
Athri, Runnisaidpur, Sitamarhi		
Hypoxia, insufficient oxygen reaching body ar		
tissues and disrupting normal heart functioning.		
31 th /May/2025		

Overall Analysis: - Pallavi Kapoor, was brought to the hospital in the morning hours of 31th May 2025 in a critical condition by her parents. The condition of the kid is critical. Patient has Suffering from Hypoxia, insufficient oxygen reaching body and tissues and disrupting normal heart functioning. The kid has been admitted in NICU with 24 x 7 observation of concerned doctors and necessary treatment has been initiated. There conditions can be severe and require urgent medical attention to address the deficiencies and other complications, regular assessment and check up is required. The patient comes from a financially weaker section, Kid's father is a Farm Worker and mother a house wife who can't take care of the medical expense, so they need financial help of approx Rs. 1,14,760/- For almost 16 days of treatment.

Please provide financial support for the same.

Estimated Fund required during Hospital Stay and Overall Treatment.

S.No.	Element	Unit	Rate (INR)	Price (INR)
1	NICU	16	3000.00	48000.00
2	Nursing	16	500.00	8000.00
3	Visit	16	1000.00	16000.00
4	Procedure	1	5000.00	5000.00
5	Medicine	16	410.00	6560.00
6	RBS	16	100.00	1600.00
7	Oxygen	236	100.00	23600.00
8	Warmer	12	500.00	6000.00
				1,14,760.00

Sharp Strates

रीवा में; ए भिज्य विल्क्येर ऑस्ट्रनाइजेसन

HE12121. नाम निवेदन हैं की मेरी वोरी पुल्ला कपूर धने की अभी मात्र 09 दीन की ही है, जो की बहुत ही गंभीर बीमारी से पुझ रही है, जो भी व्यक्ता जनमत्ताल हैं, डीकर का अहन है भी इसके हत्य और छे भड़ा में वहत ही उथादा पिम्ला है जिससे ऑ Aसजा ठीक से नहीं के पाटि है, साथ ही और भी पिम्ला है। डॉक्टर का कहना है की हड्सम इलाज जान में जान के जान हो जा मही के इसमा अथना मिरिक्त है। डीवरर का क्ला है ही नारमी और लागमा १६ दीन एक का समाम लागमा। आत्यात गरीकी में पुष्टार है परिवार के लिए यह बहुति वरी ८ मही। मेर पिन द्वेत में काम करते हैं और में अपने अमाराहरी का देव आमा करती है। है जी मेरी 3112/का एवं देनिया वियमि को देखें हुए मेरी 3112 महद करी का क्या कर के इसके लिए में भीमार का अप अपमि ट्रांजी।

Of selections

311451 PZOUA 392195 AYZ

